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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, Customer A is complaining that no OSPF routes are being received across your Layer 3 VPN.
You suspect that a problem exists with the PE-CE protocol. The core network is operational. Which operational
command on PE1 helps troubleshoot this problem? 

A. show ospf neighbor 

B. show bgp summary 

C. show ospf neighbor instance customer-a 

D. show bgp summary instance customer-a 

Correct Answer: C 

 

QUESTION 2

Click the Exhibit button. 
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A network administrator has configured the LSPs shown in the exhibit on the ingress router of a 10-Gigabit Ethernet
network 

Which statement is true? 

A. Both LSPs will establish and remain established. 

B. The Boston-to-Denver LSP will establish and remain established. 

C. The Boston-to-Seattle LSP will establish and remain established. 

D. Neither LSP will remain established. 

Correct Answer: B 

 

QUESTION 3

You have assigned target:65432:100 as the route target for Customer A\\'s BGP Layer 2 VPN. The PE1 router VRF is
configured with vrf-target export target:65432:100.Which configuration on PE2 correctly assigned Customer A\\'s routes
to their VRF? 

A. vrf-target target:65432:100 

B. route-target target:65432:100 
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C. vrf-target export target:65432:100 

D. route-target export target:65432:100 

Correct Answer: A 

 

QUESTION 4

You are facing BGP scaling issues and decide to add dedicated route reflectors to your network. You notice that VPN
routes are not being advertised by your route reflectors. Which three actions can you take to solve this? (Choose
three.) 

A. Add a static default route to inet.3 and/or inet6.3 on the route reflectors. 

B. Add a full mesh of MPLS LSPs between all of the route reflectors. 

C. Add MPLS LSPs between the route reflectors and their client routers. 

D. Add a static default route to inet.3 and/or inet6.3 on all of the client routers. 

E. Use rib-groups to add IGP routes to inet.3 and/or inet6.3 on the route reflectors. 

Correct Answer: ACE 

 

QUESTION 5

Click the Exhibit button. 
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R1 and R2 are directly connected using the interfaces shown in the exhibit. R1 can ping R2\\'s interface, and R2 can
ping R1\\'s interface. The IS-IS adjacency will not come up. What is causing the adjacency to fail? 

A. The correct levels are not configured under protocols isis. 

B. The link MTU is too small to support IS-IS. 

C. Authentication is not properly configured for the adjacency. 

D. Both routers are configured as the DR, causing a conflict. 

Correct Answer: B 
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